

13/01/20

$$(1-x^2)y'' - 2xy' + p(p+1)y = 0 \text{ (Legendre)}$$

$$(1-x^2)y'' - xy' + p^2y = 0 \text{ (Chebyshev)}$$

$$y'' - 2xy' - 2py = 0 \text{ (Hermite)}$$

$$xy'' + (1-x)y' + py = 0 \text{ (Laguerre)}$$

$$x^2y'' + xy' + (x^2 - p^2)y = 0 \text{ (Bessel)}$$

$$\int w(x) P_n P_n dx = 0$$

$$\text{Legendre } (1-x^2)y'' - 2xy' + p(p+1)y = 0 \begin{cases} x_0 = 0 \text{ or } x_1 = 0 \end{cases}$$

$$A_1(x) = \frac{\alpha_1(x)}{\alpha_2(x)} (x-1) = \frac{-2x}{(1-x)(1+x)} \quad (x-1) = \frac{2x}{1+x}$$

$$y(x) = \sum_{n=0}^{\infty} C_n x^n$$

$$(1-x^2) \left[ \sum_{n=0}^{\infty} n(n-1) C_n x^{n-2} \right] - 2x \left[ \sum_{n=0}^{\infty} C_n n x^{n-1} \right] + p(p+1) \sum_{n=0}^{\infty} C_n x^n = 0$$

$$\sum_{n=0}^{\infty} (n+2)(n+1) C_{n+2} x^n = \sum_{n=0}^{\infty} (n+2)(n+1) C_{n+2} x^n$$

$$C_{n+2} = \frac{-(p-n)(p-n+1)}{(n+1)(n+2)} C_n \quad n=0,1$$

$$n=2k \quad k=0,1$$

$$C_{2(k+1)} = \frac{-(p-2k)(p-2k+1)}{(2k+1)(2k+2)} C_{2k}$$

1

$$k=0 \quad c_2 = \frac{-p(p+1)}{2} c_0$$

$$k=1 \quad c_4 = \frac{-(p-2)(p+3)}{3 \cdot 4} c_2$$

$$k=2 \quad c_6 = \frac{-(p-4)(p+5)}{5 \cdot 6} c_4$$

$$k=n-1 \quad c_{2n} = \frac{-(p-2n+2)(p+2n-1)}{(2n-1)2n} c_{2n-2}$$

$$\Rightarrow c_{2n} = (-1)^n \frac{(p-2n+2) \dots (p-2)p(p+1)(p+3) \dots (p+2n-1)}{[1 \cdot 3 \cdot 5 \dots (2n-1)] [2 \cdot 4 \cdot 6 \dots (2n)]} c_0$$

$$y_1(x) = \sum_{k=0}^{\infty} c_{2k} x^{2k}, \quad y_2(x) = \sum_{k=0}^{\infty} c_{2k+1} x^{2k+1}$$

$$p=10: c_6 = 0 \quad ((p-2 \cdot 6+2) = 0)$$

$$\sum_{n=0}^5 c_{2n} x^{2n}$$

$$p = m \in \mathbb{N} \leadsto p_m(x) \text{ in } \mathcal{P}_m$$

$$\leadsto [(1-x^2)p'_m] + m(m+1)p_m = 0$$

$$m, n \in \mathbb{N}, m \neq n$$

$$[(1-x^2)p'_m] + n(n+1)p_m = 0$$

$$\Rightarrow [(1-x^2)p'_m] p_n - [(1-x^2)p'_n] p_m + [m(m+1) - n(n+1)] p_m p_n = 0$$

$$\Rightarrow \int_{-1}^1 \{ [(1-x^2)p'_m]' p_n - [(1-x^2)p'_n]' p_m \} dx + [m(m+1) - n(n+1)] \int_{-1}^1 p_m p_n$$

(2)

$$(1-x^2)P_n'P_n \Big|_{x=-1}^1 - \int_{-1}^1 (1-x^2)P_n'P_n' dx - (1-x^2)P_n'P_n \Big|_{x=-1}^1 + \int_{-1}^1 (1-x^2)P_n'P_n' dx$$

Όμοιο εν βωσπρμόν:  $\alpha_2 y'' + \alpha_1 y' + \alpha_0 y = 0$

$$\leadsto [p(x)y']' + \lambda q(x)y = 0 \quad \alpha, b \in J \subseteq \mathbb{D}_\lambda$$

$$p(a) = p(b) = 0$$

$$\lambda_1 \neq \lambda_2 \leadsto y_1, y_2$$

$$[p y_1'] + \lambda_1 q y_1 = 0 \text{ ws } y_2$$

$$[p y_2'] + \lambda_2 q y_2 = 0 \text{ ws } y_1$$

$$\int_a^b \{ [p y_1'] y_2 + \lambda_1 y_1 y_2 q - [p y_2'] y_1 - \lambda_2 y_1 y_2 q \} dx = 0$$

$$(p y_1') y_2 \Big|_a^b - (p y_2') y_1 \Big|_a^b - (\lambda_1 - \lambda_2) \int_a^b q y_1 y_2 dx = 0$$

$$(1-x^2)y'' - xy' + p^2 y = c \quad (x_0=0) \quad \text{δωρ}$$

οζωρ

$$y'' - \frac{x}{1-x^2} y' + \frac{p^2}{1-x^2} y = 0$$

$$e^{\int \frac{-x}{1-x^2} dx} = e^{\frac{1}{2} \log(1-x^2)}$$

$$\left[ \frac{1}{\sqrt{1-x^2}} y' \right]' + \frac{p^2}{\sqrt{1-x^2}} y = 0$$

$$\int_{-1}^1 \frac{1}{\sqrt{1-x^2}} T_m(x) T_n(x) dx = 0$$

γενικευμένο  $\int_0^\infty f(x) dx = \lim_{k \rightarrow +\infty} \int_0^k f(x) dx$

$$\lim_{c \rightarrow \infty} \int_{-c}^c \frac{1}{\sqrt{1-x^2}} L_m(x) L_n(x) dx = 0$$

$$y'' - 2xy' - 2py = 0, \quad \lambda = 0, \quad p \in \mathbb{N}$$

$$e^{-\int 2x dx} = e^{-x^2}$$

$$e^{-x^2} y'' - 2x e^{-x^2} y' - 2p e^{-x^2} y = 0$$

$$[e^{-x^2} y']' - 2p e^{-x^2} y = 0$$

$$H_m, H_n, m, n \in \mathbb{N}, m \neq n$$

$$\int e^{-x^2} H_m(x) H_n(x) dx \quad \text{pindivi} \quad \text{poro} \quad 0 \text{ to } \pm \infty$$

$$\rightarrow \int_{-\infty}^{\infty} e^{-x^2} H_m(x) H_n(x) dx$$

$$\rightarrow \lim_{c \rightarrow \infty} \int_{-c}^c e^{-x^2} H_m(x) H_n(x) dx$$

$$y'' + \frac{(1-x)}{x} y' + \frac{p}{x} y = c$$

$$e^{\int \frac{1-x}{x} dx} = e^{\log x - x} = x \cdot e^{-x}$$

$$L_m, L_n$$

$$\int_0^{\infty} \frac{1}{x} L_m(x) L_n(x) dx$$

$$\lim_{\lambda \rightarrow \infty} \int_{\frac{1}{\lambda}}^{\lambda} \dots \quad \text{in} \quad \int_0^1 \dots \quad + \quad \lim_{x \rightarrow \infty} \int_1^x \dots$$

$$x^2 y'' + xy' + (x^2 - p^2)y = 0$$

$$xy'' + y' + \left(x - \frac{p^2}{x}\right)y = 0$$

$$(xy')' + \left(x - \frac{p^2}{x}\right)y = 0 \quad (\lambda_0 = 0 \text{ anulado sempre})$$

$$J_p^{(\lambda)} \sim \lambda_0 < \lambda_1 < \lambda_2 < \dots \rightarrow +\infty.$$

$$u(x) = J_p(\lambda x)$$

$$u(0) = 0$$

$$u(1) = 0$$

$$u'(x) = \lambda J_p'(\lambda x)$$

$$u''(x) = \lambda^2 J_p''(\lambda x)$$

$$\rightarrow (\lambda x) \quad \lambda^2 x^2 J_p''(\lambda x) + \lambda x J_p'(\lambda x) + (\lambda^2 x^2 - p^2) J_p(\lambda x) = 0.$$

$$x^2 J_p' + x J_p' + (x^2 - p^2) J_p = 0$$

$$x^2 u''(x) + x u'(x) + (\lambda^2 x^2 - p^2) u(x) = 0$$

$$x u''(x) + u'(x) + \left(\lambda^2 x - \frac{p^2}{x}\right) u(x) = 0$$

$$[x u'(x)]' + \left(\lambda^2 x - \frac{p^2}{x}\right) u(x) = 0$$

$$\int_0^1 x J_p(\lambda_1 x) J_p(\lambda_2 x) dx = 0$$